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D 3x2+7x+2 @ x2+3x+2 ® 2x2+7x+6
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D3x2+7x+2=Bx+1)(x+2)
@x+3x+2=(x+1)(x+2)
® 2x% + Tx+6 = (2x + 3)(x + 2)
@ x?—5x+6=(x-2)(x-3)
®2x?+3x-2=(x+2)(2x-1)
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© a<-2 @ a>2 B 0<a<?
® -2<a<0 @—2<a<2
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Va2 +4a+4— Va2 —4a + 4

= V(a+2)2- \/(a-2)?
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@ (x-2)(x+10) @ (x+2)(x-10)
® (x+2)(x+ 10) @ (x—4)(x+5)
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(x+5)(x—6)+10 = x> —x-30+ 10
=x*-x-20
= (x+4)(x-5)
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D 972 = (100 — 3)% = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52 — 0.12 = 24.99

® 3012 = (300 + 1) = 3002 + 2 x 300 x 1 + 12 = 90601
@ (VI+ VB)(V2- VB) = (VD)2 - (VB)? = -1
@)(-VI0- VB (VI0- 3) = (VIO - (¥ = &
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® (- V10 - V2)(V10 - V2)
- V2 - VI0)(- V2 + V10)
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® x-1 @)x-14

@ 2x-3 ® 2x+3

¥ =-3x-4=(x-4)(x+1)
232 —1lx+12 = (2x - 3) (x—4)
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@2x+2y—3z @ 2x-2y-3z ® 2x-4y+ 3z

@ 2x+3y-2z ® 2x+2y+3z
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(x+y)=A=std

A(A - 3z) — 422 = A% — 3Az - 47
=(A-42)(A+2)
=x+y-42)(x+y+2z)

(xty-4)+ (x+y+2)=2x+2y-32
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a>-b*=(a+b)(a—b)

=(2-V2+1+2V2)(2- V2-1-22)
=(3+ V2)(1-3v2)

=3+V2-9V2-6=-3-8V2
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@ 22 +x-1=2x+1)(x-1)
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AxX> +Bx+C=(3x-1)(2x+ 1)
Ax> + Bx+C=6x>+x-1
~A=6,B=1, C=-1
LA+B+C=6
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232 +ax-3=(x-1)(2x+3)=2x>+x-3
Ta=1
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® 3(x—4)(x+5)

U= 3(x - 1)(x —4) oA A5 12 & 2A HYL,
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whehA] 3x2 + 12x + 12 = 3(x + 2)2 o[t}
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C(y+4)2+2x(y+4)-8

= x%% 4 2xt — 8

= (xt +4) (xt - 2)

={x(+)+4} {x(+4) -2}

= (xy +4x+4) (xy + 4x - 2)
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EN=(x+2)(x+7)(x+4)(x+5)+a
= (x2—|—9x+ 14) (x2—|—9x—|—20)—|—a

X2+ 9x=A 2 *|35IH

(F4) =(A+14)(A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 +9x + 17)°
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(FA1) = (x—3y) (x+ 3y) + 4 (x + 3y)
= (x+3y) (x-3y+4)
CA+B+CAD—=143+1-3=2




19. x%—5x2 +49] Ql5=7} opd A2

® x-1 @ x+2 @ x+1 @ x-2 @x—4
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O x+y+2 @ 3x-y+2 @ x-y+4
@X—)’+2 ® x-3y+2
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2 —y?—x+5y-6
=x%—x—(y* ~ 5y +6)
=x*-x-(y-3)(y-2)
{x+ -3} {x- (-2}
=(x+y-3)(x-y+2)
LJA=x—-y+2
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22, ax®+24x+b = (3x+c)* LW, =T a, b, ¢ &GS A= oY

D a=9,b=16, c= -4 @ a=9,b=8,c=14
®a=9,b=16, c=2 @a:g,b:16,c:4

® a=3,b=-8 c=4
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(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=¢c2, b=16

La=9 b=16, c=14
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(@] +36x+[©] = (2x+[©)*

632 + 1+ (@] = (B3r+5)(2x + @)
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®: (-3)x5=-15
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Zyol= 2 +4x+4
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26. a+b=V6,ab=10°]1, (a-b)a®+ (b—-a)b®> =k =t T uf, k? 2
= kY

O 20 @ 21 @ 22 @ 23 ®)24

(a-b)? = (a+b)*-4dab

— (VB -4=2

(a=b)a® + (b-a)b* = (a-b)a® - b*(a - b)
= (a=b)(a®-1?)
= (a+b)(a-b)
=26
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28. -115% - 752 + 252 + 1852 = A4bstolzt,
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-115% — 75 + 252 + 1852

= 1852 — 1152 + 252 — 752

= (185 + 115) (185 — 115) + (25 + 75) (25 — 75)
=300 x 70 + 100 x (=50)

= 21000 — 5000

= 16000




